Raid Designs

Part #
m1SE950-01
m1SE-01
m1SE-02
m1SE-02HID1
m1SE-02HID2
m1SE-03
m1SE-04
m1SE-05
m1SE-06
m1SE-07
m1SE-08
m1SE-09
m1SE-10
SLMBLST35
LGHT7055
LGHT70HID
LGHT100HID
m1SE-11
m1SE-11SFR

mM1SEFRG-01
m1FRGO1
m1FRGO2
m1SE-12
m1SE-12SFR
m1SE-13
m1SE-13SFR
m1FRGO3
m1FRGO4

Part name

NAVIGATION BRACKET

Nav tower side left

Nav tower side right

Nav tower side right Single HID
Nav tower side right Dual HID
Frame bracket

LC8 Instrument holder

Cross bar mount

Cross bar 150mm

Cross bar 200mm

Suspension point

Light fixture

Light fixture support

Slim xenon ballast 35W

70mm light Halogen (std)
70mm light HID (optional)
100mm 4300K H3 HID light
Fairing side support, std tank
Fairing side support, Safari tank

FAIRING

Center piece, black gel coat

Lexan light protection

Side piece left incl trim, black gel coat
Side piece left Safari incl trim, black
Side piece right incl trim, black gel coat
Side piece right Safari incl trim, black
Fairing bolt kit

Glare protector, foam

Nr of

e

Parts included
Complete Marathon navigation bracket for 950 Super Enduro
4 x 10mm M4 allen bolt

1 x SLMBLST35 mounted

2 x SLMBLST35 mounted

1 x Frame bracket loop M8, 2 x M8 lock nut, 1 x 40mm M8 bolt + lock nut

2 x 12mm countersunk stainless M6 Allen bolts + lock nuts, 1 x 12mm cross bar mount
4 x 12mm M6 Allen bolt

2 x 20mm M4 screw

2 x 20mm M4 screw

1 x countersunk 30mm M8 bolt, 1 x M8 pop nut, 1 x M8 nut, 1 x 20mm M8 washer

2 x 27mm M6 joint nut, 1 x 50mm M6 threaded rod, 2 x 12mm Allen M6 bolt

2 x 30mm M6 joint nut, 1 x 50mm threaded rod, 2 x 12mm Allen M6 bolts, 1 x 50mm Allen M6 bolt + nut
3 x pop rivet 4mm (3 x 15mm M4 Allen bolt + nut)

55W H3 halogen bulb, 2 x M5 20mm Allen bolt, 2 x 8mm spacer

4300K H3 35W HID bulb including wiring harness, 2 x M5 20mm bolt, 2 x 8mm spacer
2 x 12mm M6 Allen bolt

2 x 12mm M6 Allen bolt, 2 x 20mm M6 Allen bolt, 6 x 20x2mm M6 shims

2 x 12mm M6 Allen bolt, 2 x 20mm M6 Allen bolt, 6 x 20x2mm M6 shims

Complete Marathon fairing for 950 Super Enduro

1 x rubber suspension grommet
6 x 10mm M3 screw + lock nut

6 x flush 15mm M5 Allen bolt + lock nut, 6 x plastic washer

www.raiddesigns.com Updated: 2012-09-23




